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QUESTION 1

The table "custom" is defined below. The "id" column and "introducer" column are of INTEGER type, and the "email"
column is of TEXT type. id | email | introducer ----+ + 2 | aaa@example.com | 1 3 |
bbb@example.com | 2 4 | ccc@example.com | 2 Three SQL statements were executed in the following order: INSERT
INTO custom SELECT max(id) + 1, \\'ddd@example.com\\', 4 FROM custom; UPDATE custom SET introducer = 999
WHERE email = \'bbb@example.com\\'; DELETE FROM custom WHERE introducer NOT IN (SELECT id FROM
custom); Select the number of rows in the "custom” table after the execution.

A. 0 rows
B. 1 row

C. 2 rows
D. 3 rows
E. 4 rows

Correct Answer: C

QUESTION 2

Select one incorrect description regarding the following SQL statement defining a function. CREATE OR REPLACE
FUNCTION get_file_list(TEXT, BOOLEAN) RETURNS SETOF TEXT LANGUAGE C STRICT SECURITY DEFINER AS
\\'myfuncs.so\\;

A. This function may be defined in \\Y'myfuncs.so\\".

B. This function can return multiple rows.

C. This SQL statement defines a function written in the C language.

D. If this function is called with a NULL parameter, it will return O when executed.

E. This function operates with the authority of the user who executed it.

Correct Answer: E

QUESTION 3

A table is defined as below. Select the most suitable description about the foreign key constraint. CREATE TABLE
master (id INTEGER PRIMARY KEY, name TEXT); CREATE TABLE record (id INTEGER REFERENCES master (id),
count INTEGER);

A. If any row exists in the "record" table, no change can be made to the "master"” table.

B. If the "record" table contains a row with an "id", no change can be made at all to the corresponding "id" row in the
"master” table.

C. If the "record" table contains a row with an "id", the corresponding "id" row in the "master" table cannot be deleted.
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D. The "record" table cannot have duplicate "id"s.
E. These SQL statements are invalid; no constraints are created.

Correct Answer: C

QUESTION 4

The "sample" table consists of the following data. How many rows are returned by executing the following SQL
statement?

SELECT i FROM sample GROUP BY i;
A. 1 row

B. 2 rows

C. 3rows

D. 4 rows

E. 5 rows

Correct Answer: C

QUESTION 5

Select the correct SQL statement that records the space occupied by deleted or updated rows for later reuse, and also
updates statistics.

A. VACUUM

B. VACUUM ANALYZE
C. EXPLAIN

D. EXPLAIN ANALYZE
E. NOTIFY

Correct Answer: B
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